
482481

H
e

m
m

in
g

 U
n

it
s

qSpring Force
Free

Length
(mm)

Initial
Length
(mm)

Initial Tensile 
Force

N(kgf)

Final
Length
(mm)

Final Tensile 
Force

N(kgf)

130.0 147.5
192.4p2
(19.6p2)

173.8
332.2p2
(33.9p2)

105

A A

55

180

SECTION A-A

(3
17

.5
)

(265)

7°

85

(4
5)

85

4-h14
(For M12)

25

2-h13E9

55a0.05

0.
5 

C
le

ar
an

ce

75a0.05

18
0 a

0.
1

75

205

105±0.05

707015

4-h14

14
0

20

85 55
15

14
0

40

2-h13H812
0

10
0

70w

!5

t

!8

@4

!4

!6!6 !2 !7

@0!1@5#1

@6
!0

q
!3
@9
#3

@3
@2

!6

#1@5!1!9

#1
@5
!1
o

e

#2#0@8u

y
@7

@7
i

#1@5!1@1

r@8

!6

!6

14
0

18
0

HPPWF

Catalog  No.

HPPWF
R / L

R
Order

 
2-Stage Support Link Unit 

FULCRUM LINK UNIT

qTable of Components
No. Description Qty Material and Remark

q Base 1 FCD60iSS400
w Link 1 SS400
e Bracket 1 SS400
r Bracket 1 SS400
t Link 1 S45C
y Stopper 1 S45C
u Stopper 1 S45C
i Stopper 1 S45C
o Hinge Pin 1 S45C
!0 Stopper for link pre-movement 1 S45C 
!1 Key 5 SS400  (HK8)
!2 Cam Roller 1 S50C
!3 Thick washer 4 S45C  (PW12)
!4 Bush 2 Bronze with Graphite(SOB SP2)
!5 Bush 1 Bronze with Graphite(SOB SP2)
!6 Bush 5 Bronze with Graphite(SOB SP2)
!7 Washer 12 Bronze with Graphite(SOB SP2)
!8 Roller follower 1 NAST25ZZUU
!9 Hinge Pin 1 S45C (CLKGH25-95)
@0 Hinge Pin 2 S45C (CLKGH25-105)
@1 Hinge Pin 1 S45C (CLKGH25-175)
@2 Spring 2 SWP-A(AWH32-130)
@3 Ring 4 SS400(BSR34)
@4 Hexagon socket head screw (concave end) 1 SCM435 M4p8
@5 Bolts with hexagonal socket head 10 SCM435 M6p15
@6 Bolts with hexagonal socket head 1 SCM435 M6p20
@7 Bolts with hexagonal socket head 4 SCM435 M8p20
@8 Bolts with hexagonal socket head 2 SCM435 M8p25
@9 Bolts with hexagonal socket head 4 SCM435 M12p50
#0 Spring Washer 2 SWRH  For M8
#1 Spring Washer 10 SWRH  For M6
#2 Flat washer 2 SS400  For M8
#3 Spring Washer 4 SWRH  For M12

Catalog No. R/L

HPPWF RYL

This figure shows the R type. 
  The L type is symmetrical to this figure. 

qRelation in operation between driver and unit 

The driver conforming to this unit is HPCDF. (P.487)

42
5

91.6
0

136.3

110

120

45.6

85

0

197.4

e

w

q

A．bottom dead center

C．Start of return

E．Intial contact of roller

C．Start of return

B．Leaving from roller

A.bottom dead center

Movement from
w to e

(b
ot

to
m

 d
ea

d 
ce

nt
er

)

Roller A

Roller B

B．Leaving from roller

D．Completion of hemming

E．Intial contact of roller

Movement from q to w

0465-0498-eng.indd   481-482 15/02/26   10:50

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.




